Problem Set 2

1.  Consider the game given in extensive form below.








Suppose that the players play the above game once and then repeat it once again when they have finished their first play.  Payoffs in the twice repeated game are simply the sum of payoffs in each individual game.  Draw the extensive form for the twice repeated game and calculate the number of pure strategies each player possesses.  Complete the first two rows of the strategic form of the twice repeated game.

2. Find the sequential equilibria of the games below.










3.
Consider the insurance model described in class.  Suppose that consumers types have a density f()=2 on the interval [0,1].  Calculate the equilibrium insurance contract (a price p*) and who buys insurance, when all firms supply full insurance and offer consumers the same contract.
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